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3A 4R 58 6H 7R 8H 98 10 1A 12B 18 2R 3R
X N H314E R1£E R2&E
3H 4 5H 6H 7H 8H 9H 10H 11HA 12H 18 2H 3H
3 H BETE DL -3.2 25 25 -69 -06 -32 -51 -115 -108 -231 -353 -378 -33.
BENESBY -70 -63 -51 -94 -82 -63 -57 -83 -115 -135 -179 -224 -26.1
3HhAXDREL 38 6.3 8.2 57 -50 -76 -38 -159 -261 -160 -109 -359 -605
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NDREL
H314E RI%E R24E
3H 4K 5H 6H 7H 8H 9H 108 1A 128 18 2A 3A
X A H314E R14E R24E
7 38 48 58 68 78 8B 9B 108 1A 128 1B 2B 3R
3HEREDLE | 108 -71  -96 -119 24 -155 -71 -71 00 -217 -265 -325 -238
BENELEY 36 -71 -49 -71 -60 -60 -24 —60 -95 -96 ~-157 ~-169 -22.6
3HBADEFEL 36 95 84 95 36 119 36 -119 -226 -48 -48 -337 -548
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3R 4R 58 6A 7R 88 98 108 1B 12R 18 2R 3R
X N H314 R14E R24E
7 38 48 58 68 78 8B 9B 108 1A 128 1B 2B 38
B -3.9 70 -69 -49 31 -30 -21 -108 -90 -72 -83 -90 -134
W RAR -06 -24 -138 94 -98 -36 -43 -59 122 -26 -11.1 1.9 28
R - R&EGZ 3.4 5.9 4.4 2.2 8.3 60 105 5.0 3.9 44 95 1.0 1.9
Him-SEE L 51 =50 07 -13 07 -122 2.3 01 -25 39 62 -14 -44
— R R 51 =132 144 70 -455 115 -160 -126 187 -33.6 -444 -161 -105
B -152 -149 -145 -146 -181 -200 -65 -138 -138 -98 -78 -76 -5.7
Lrpe -40 -43 -02 -37 -13 -150 -98 -204 -171 -147 56 -158 -9.7
FEER R 37 -12 45 53 0.3 23 08 -57 -20 -39 -20 -40 -03
e ) -54 -66 -54 -71 -86 -95 -39 -106 -74 -82 -51 -73 -49
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X A H314E R14E R24E
7 38 48 58 68 78 8B 9B 108 1A 128 1B 2B 38
3HAREDLE | 563 250 125 00 250 -63 125 -188 -375 -313 -375 63 00
BEOESEY 63 188 00 -63 -63 00 00 -63 -63 -125 -188 ~-188 00
3HA%XDEEL | 125 125 00 63 00 -250 -250 -188 -375 00 63 63 -250
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e 316 -45 1503 -270 113 -128 -185 -217 -457 -476 -334 -472 -250
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REL
-80
H314E RI%E R24E
3H 4K 5H 6H 7H 8H 9H 108 1A 128 1A 2H 3H
X A H314E R14E R24E
7 38 48 58 68 78 8B 9B 108 1A 128 1B 2B 38
3HEREDLE | 259 74 185 -222 -185 -115 -115 -440 -320 -360 -480 -280 —-320
BENELEY -333 -148 -111 -222 -222 -154 -154 -240 -360 -320 -280 -320 -36.0
3HEADEEL | 296 -148 -148 -148 -370 -385 -23.1 -280 -320 -400 -160 -320 —64.0
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X VAN H314 R14E R2%
7 38 48 58 68 78 8B 9B 108 1A 12 1B 2B 38
KE &S -63 -88 -04 -87 -122 1.2 44 -220 -28 -42 -15 -135 -32.2
&6 & 21  -22 5.6 16 -49 24 127 -55 -43 12 31 112  -26
RER & -0.2 1.2 2.1 1.7 -1 0.7 1.6 0.9 42 1.9 2.4 7.0 5.2
REm -30 -08 9.6 14 -218 267 548 -208 -76 -85 -18 76 -44
INFEEEET -0.6 0.6 2.8 15 =31 2.1 58 -1.2 2.5 05 2.2 7.0 3.4
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7 38 48 5B 6B 7B 88 98 108 1A 12 1B 2B  3A8
3H AT E D 65 125 156 156 -63 375 -3.1 63 -94 -125 -469 -750 -75.0
BENELEY 00 -94 -31 -63 -31 -31 -94 -31 00 -94 -156 -313 -406
3hBAMREBL | 290 125 313 125 -31 -250 31 -156 -250 -344 -250 -656 -906
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B 4 H314E R14E R24E
7 38 48 58 €A 1A 88 98 10A 1A 128 1B 2B 38
WtE - RFIL 30 09 -01 -113 -92 -28 -121 -100 62 —67 -78 -127 -446
B W -37 -20 -46 -45 -19 43 12 -34 -24 57 08 -27 -83
ZOMY—ER 27.9 36 02 147 129 -64 826 190 -02 396 87 -422 74
H—FRZH 31 -07 -30 -29 -07 -47 130 -09 -07 82 07 -140 -100
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